FER 014097018

RUR)—hvyT AUSR

=" 2 29VAMI WIH37° 5 FU0 3-R

g5z K ouT IN GR HDCP NET =

B |BE X 43 46 89 23.0 66.0

#E N % 38 33 1 3.0 68.0
3 B = 50 4 91 21.0 70.0
4 | BMH = 38 40 18 6.0 72.0
5 |ILE 1B 39 38 11 4.0 73.0
6 |Frith FEA 38 41 19 5.0 74.0
7 |thtE AI— 53 47 100 26.0 14.0
8 |H RE 42 43 85 10.0 75.0
9 | BHE EX 44 42 86 10.0 76.0
10 |Ed B 44 43 87 10.0 71.0
" #ME Bz 47 49 96 19.0 71.0
12 |IkE Ot 39 40 19 1.0 78.0
13 | T#H 3 40 43 83 5.0 18.0
14 |WR &= 47 42 89 11.0 78.0
15 |BER #ERX 45 45 90 12.0 18.0
16 |Jilot F8HF 51 50 101 23.0 78.0
17 |—t5 XAl 38 41 19 0.0 79.0
18 |FR & 43 46 89 10.0 79.0
19 | kX fHH 43 42 85 5.0 80.0
20 |BR M= 51 44 95 14.0 81.0
21 B = 47 43 90 8.0 82.0
22 |#HE EZ 48 44 92 10.0 82.0
23 | RX¥ B= 47 49 96 14.0 82.0
24 B EA 50 48 98 14.0 84.0
25 B EE 50 46 96 11.0 85.0
26 = BB 51 52 103 17.0 86.0
21 | FH R¥F 54 48 102 14.0 88.0
28 tElL BE 53 51 104 16.0 88.0
29 |IR 42 57 99 10.0 89.0
30 [ ® o4 52 106 17.0 89.0
31 |BR ®Z 59 49 108 18.0 90.0
32 |EHN RE 51 50 101 8.0 93.0
33 |#kHA FHHE 63 55 118 15.0 | 103.0
NR |Bpsth =
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g5z K % ouT IN GR HDCP NET =

2 P FBRE 37 40 11 8.0 69.0

#E FX F 38 36 14 4.0 70.0
3 |KE ## 43 37 80 10.0 70.0
4 s WS 39 43 82 10.0 72.0
S | = 40 39 19 6.0 13.0
6 |RE EE 38 38 16 2.0 74.0
1 |XK&E =B 4 4 82 1.0 75.0
8 =i & 43 39 82 6.0 76.0
9 ML EA 46 4 87 11.0 76.0
10 |lUE #H# 42 41 83 6.0 77.0
" iR #Flz 40 38 18 0.0 18.0
12 &K &EF 38 41 19 1.0 78.0
13 B EF 40 42 82 4.0 78.0
14 |f@E #F 47 41 88 10.0 78.0
15 |EH A& 47 42 89 11.0 78.0
16 |HF #F& 52 39 91 13.0 78.0
17 #ERK =¥ 48 40 88 9.0 79.0
18 | KE AR 43 46 89 10.0 79.0
19 |H B— 43 43 86 5.0 81.0
20 |®F 1#17 50 45 95 13.0 82.0
21 | #A mE 58 48 106 20.0 86.0
22 |thFt fB— 57 59 116 21.0 95.0
23 |H#F Q& 54 59 113 17.0 96.0
NR |IAT %4

OPEN |&i#E =RIE 48 45 93

EFX Wi 49 51 100
GUEST HE+ %ZIE 45 45 90
‘B - 46 55 101
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